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(4) Rationalize. b+\ b"-a -L.bu"tf e f (Jl) S/J'r
J Bo 42
- -a

1

o ) 1

(4) Find the H.CF. by Factorization. e A L 67 () i

X 1—x2,>c3+1,1-x—2x2
. 3 2 I3 2{ o 5
(4) Factorize. X" +11x+6V3 -2 0E () 6y
(4) Solve and Check. 0-3x+ 0.4 =0:28x +1-16 gy s EF )

@

@)

S

4

@

)

Solve by using Quadratic Formula. (3- 4x) = (4x - 3)2 ..éd’c,u J ,,.f G 1 (LD 74 1!

3X -2A = B G&Ep#adf X' In B= [4 4}”’ A= [24 :} RS

2 3 2-3
If A= [_4 1:] and B= [4 4] solve the Matrix Equation 3X -2A = B for' X' 1

Solve Equations by Matrix Inversion Method. 25 e 3 2L IG5  Uile () 81!

3x+2y = 10 !

-3x+2y = -4
-é;':r List Lyt w5 é" 1§ SEk SBEWIS. LT (L)
Draw an Equilateral Triangle with each side 5 cm. Draw its altitudes.

- HEE 6 U 6 sl s 2§ gak § J 5 r:l"‘ fg € L3 f L () 94!

Find the Volume of a Solid Cone with Altitude 9 em , Radius of Base 6 cm.

-Uf BAC(-6,3) 4 B(-2,3), A(4,3) b6 S Sk ()

s

Show that the points A(4,3),B(-2,3) and C(-6, 3) are Collinear.
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NI

(a+b)2 (a-b)2 = 2 | 10y

(A) 2(a’+b%) (B) 4dab (C) - dab (D) a2 + b2 1)
H.CF. of 6pqgr, 15qrs is : ! e Yot ¥ 6pgr, 15qrs; (2)
(A) 3qr (B) 3pqr (C) 3pqrs (D) 15 pqrs
If P(x)=x2-2x2+5x+1 then P(1) =: : ExP(1) 3 P(x) = x3- 22 4 5x a1 3)
(A) 5 B) -5 © -7 (D) Y
Factorization of x°—'8 is : 1 / J X - 81 (4

(A) (x - 2)(x +4) (B) (x-2)(x +2x+4) (C) (x - 2)(x -2x+4) (D) (x+2)(x +2x+4)

The Solution Set of | X |= 3 js: :q..‘.{d’b’ |x|= 31 (5
A) 3 (B) -3 (O) %3 (D) o0

In a Square Matrix , the Number of Rows and Columns is : & (3)1 2 g,( u,v}b’ sl U e ..JBU.'/ (6)
(A 2x 3 (B) 3x2 (C) Same UL (D) 2 x 1

Solution Set of x°~ 9 =0 is : e f KX -9 =0 (7)
A) {9} (B) {z9} (© {23} D) ({3}
If -3>xandx >y, then -3 cevee y ¢ P a3y I x>y ul-3>x v 8)
(A) < (B > () = (D) #
In Matrices ( AB )t =7 : i (AB)t =7 LLuds )
A A ® B (© BA' D) alB
The Number of Altitudes in a Triangle is : ct L L ok sk LT (10)
A 4 (B 2 () 1 (D 3
The Coordinates of the Origin are Do L e Loiie] (11)
(A) 0 (B) (1,0) (C) (0,0) (D) (0,1)
A Straight Angle contains : . ﬁ?",;l} (12)
(a) 90° B 180° () 270° (D) 360° ~
Area of a Square with side "S" is : Dt S S é‘ ¥ J é/ Wi (13)

(A) S (B 4S8 () 25 (D) &2

De bt WP Ll P L B et | e
A point in a Cartesian Plane determines a unique ordered pair of :
(A) Set &xr (B) Abscissa L## (C) Numbers sie! (D) Ordinate &.k5.7

An Arc greater than Semi Circle is called : - JU»./ VP % e 2 ibid (15)
(A) Minor Arc 42477 (B) Chord Js (C) Major Arc o7 (D) Diameter 5
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Note : It is compuisory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
from Part Ill. Write same Question No. and its Part No. as given in the question paper.

36=2x18 (Partl) _J,f,,;} W IiVIake diagram where necessary. -/ &o‘d"hduﬁuﬂ

I

If P(x)= 2x3+2x2+ x-1, then find P(-2) S P(-2) 7 P(x) = 23422 4+ x-1 N () 20
Solve by using Formula. (2x+3y+ 2)2 -’:‘:J’ & 9k J UrsB (i)
e sy S el P2 (i

Define Irrational Numbers with example.

Factorize. a3+ a- 3a2- 3 -Z{df (iv)

Factorize. x2 + 5x.~ 14 -l QﬁLIZ' v)

Factorize. 27x3 +1 -édf.“ i)

Find H.C.F. by Factorization. 3 x5y2, 12 x2y4, 15 x3y2 -gpb‘ fﬁ‘;}bdf:‘gu); (vii)

Find L.C.M. by Factorization. 3 a4b2c3, 5aZboc -’2{"}"" Sibsiss df.:;’/fg (vili)

Find Square Root by Factorization. 4957+ 112xy + 64 y2 -éfgr}” Py df,:f/:f (ix)
| Solve. [2x-3]=5 L) 3y

Define Absolute Value. -54/7 J _wa“‘ (ii)

Solve. 9x-3 = 3(2x - 8) -éd’ (iii)

Solve by Factorization Method. 37 - 10x + 8 =0 _gd' A% (iv)

Find Solution Set of x2 -9=0 _Z’i:()h” L{J’ § x2 -9 =20 (v

2 3 4 015 2 3 4 01 5]
¥ A= |15 5| ,B= |2 3 6 A= |15 5) ,B= |23 6 f (i
4 9 3 1 4 -2 4 9 3 1 4 -2
find A-B &b

. . -5 .22 1 . . ,

Find the Matrix Product . [ 1 3“[0 3] -ér:‘" .,a/‘U"b ¥ Ul (vii)

Find Transpose of : B = [ ':; -: ’ -’cf:(r)"" J:;';l/‘ (viii)

Define Diagonal Matrix and give example. “EHJe sl é..._?/.] g S (ix)
Define Angle. -éq{/‘? J <l Gy a4y

Define Hemisphere. S S S s (ii)

Define Radius. s I,

Write down the angles marked with letters. _ér,l’”@f Jug,l)pﬁ/;lﬁ:_,&’_b] (iv)

a 40°
b
| Define Altitude of a Triangle. ..2{4/". J Lo L st v)

a=3,b=4,c=? i sunllnnl Sla,b ,éérwéw/f(w,,mw vi)
Find the Third Side of Right Angle Triangle with legs'a'and'b' and Hypotenuse 'c'
a=3,b=4,c=27
RS S & L 2 U 5 £ e AUt v
Find the Hypotenuse of a Right Isosceles Triangle whose legs are 8 cm,
p Sl S (1,0) 8 L L6 i
Describe the location of the given point (1,0)o0n the number plane.
S bl en £ (2,1),(-4,3) 46 &L &y (ix)
Find the Distance between the given pairs of points (2,1),(-4,3)
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g L ,] 2 2
(4) Rationalize. b+\ b°-a -abu}’t:’/cf (W) S/J‘r‘-?
b~ \} b2 - a? :
. l
1
(4) Find the H.C.F. by Factorization. ' éf}l” ("’bba’_u L d f () i
: l—xz,x:‘}+1,1—x~2x2 !
5 ;
(4) Factorize. V3x" +11x +6{3 ~£ df () 6/‘d!r:
(4) Solve and Check. 0-3x+0-4 =0-28x + 116 S e a2 &)

(4) Solve by using Quadratic Formula. (3- 4x) = (4x - 3)2 -Ef,:dpc,u d/ J G 99 (D 741!
@ W -2A = B APl X I B{: 2] A [i ;} i

2 3 2-3
If A= [.4 1:l and B = |:4 4jl solve the Matrix Equation 3X - 2A = B for ' X'

(4) Solve Equations by Matrix Inversion Method. -2/ e AL 5T Ul () 841

3x+2y = 10

Sy

-3x+2y -

@) _ -gf LS Lt s 5 é‘ s 6 St 2L LT (L)

Draw an Equilateral Triangle with each side 5 cm. Draw its altitudes.

@) s KEF 6 ¥ b 2EFIG S G o A6 L F (D 9,-,01,»3

Find the Volume of a Solid Cone with Altitude 9 cm , Radius of Base 6 cm.
@) U BAC(-6,3) 4 B(-2,3), A(4,3) 6 S Fet (L)

Show that the points A(4,3),B(-2,3) and C(-6, 3) are Collinear.
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Note : Four possible cholces A,B,C,D to each question are given. Which choice Is correct, fill that circle Infront of that question
number. Use marker or pen ink to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
ir 7 1 7 140
‘\E= a° saSurd of Order : (A) 0 (B) 1 (O 2 D) 75 : & ¥ia = a° s 5
|FA Linear Polynomial is of Degree : rebn on 'S &/ﬁ'f Gukl (2
(A) 0 (B) 1 < 2 (D) 3
‘, Factorization of x* .16 is : < dy,’ J 2.16 &)
(A) (x-2)(x+2) (B) (x-4)(x+4) (O) (x-2)(x+2)(x*+4) (D) (x-2)(x+4)
The Product of two Algebraic Expressions = : .= V/U‘ b ¥ u,‘ﬂ?d/él »i @
A) HCE. Al (B) LCM. Jiosbohs
(©) HCE x LCM. P x fidkshs (D)H.CF.+LCM. (bt + oty
The Solution Set of |x - 3] =5 is: : ﬁ'——@ﬂy glx-3[=51 (5
@ (s,-2} B {-8,-2} (@ (8,2} O {-82}
If 15 >10 and 10 > P, then 15-- P : £ 15 —m-P 710> P u 15>10 S| (6)
@ < @ > (@ = (@O ¢
The number of techniques to solve a Quadratic Equation is : : u}Z{,—)’LLJ’U’ L ebbsfs sl ()
(A) 1 (B) 22 (© 3 (D) 14
“ o s il LGS »| (8)
Two Matrices are Conformable for Addition if they are of
! (A) Same Order /(" (B)Order 2x3 2x3.2/
2 (C) Different Order Ll;,,':/..iﬁ‘ (D) Order 3x4 3x4 2/
In Matrices (A+B )t =7 : e tn e LL B M AU (A+B) | (9)
@a At ® B © at+B (O AB
The sum of the angles of a Triangle is : D bn 4,-’.' ¥ ugsls £ &tk (10)
@A) 90° @® 180° () 270° (D) 360°
A Triangle with no equal side is called : P& O no e S b"’ Jf ¥ el @l
(A) Isosceles LA VIV (B) Equilateral &4%{ Ueigsl-
(C) Scalene &Ll (D) Right Angled & )12f6
The number of angle bisectors in a Triangle is g Lon ot L Ui Ui & (12)
4 4 ® 2 (© 1 (D 3
Area of a Circle with Radius 'r'is : e tn et Uy € J* b1 (13)
@ 2 ® 2xr (© KF O K
In the Plane with every ordered pair is associated : q_.t‘n»..m—‘ e i p AR L (14)
(A) A Unique Point L Ll (B) Zero J* (C) Two Points bt§ 5 (D) Four Points wbg
Points on the Negative x - axis have negative : < Jn G"' J L 4 i -x d" (15)
(A) Abscissa lgmug! (B) Value i (C) Ordinate &3] (D) Fraction .5
--------- HHFIA
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Note : It is compulsory to attempt (6 -- 8 ) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
from Part il. Write same Question No. and its Part No. as given in the question paper.

36-2x18 | (Partl) Jilo |

i Make diagram where necessary. -(/ b:d{ynduﬁuw }

If P(x) = 23+2x2+ x-1, then find P(-2) & P(-2)7 P(x) = 23 +22+x-1 i () 240w

Solve by using Formula.

Define Irrational Numbers with example.

Factorize. ad+ g - 3%~ 3 -gd/- (iv) t
Factorize. > & Bx— W b A2 vy
Factorize. 27x3 +1 -éu’ f i)

Find H.C.¥. by Factorization. 3x5y2, 12 x2y4, 15 x?’y2 -?,”-:r}”‘ (Afbbdf.i:u}g (vii)

Find L.C.M. by Factorization. 3 a4b2c3, 5 e -2:(")’” J;iu'l:bb} J 7.74/39 (vii)

Find Square Root by Fac}orization. 4952+ 112xy + 64 y2 «2;{('}"‘ Jae f.;u}g (ix)

Solve. |2x-3]=5 JEES ) 3 e
Define Absolute Value. -é—g}r" J u'.‘r‘EJuV (ii) ‘
Solve. 9x-3 = 3(2x - 8) 25 i)

Solve by Factorization Method. 3% - 10x + 8 = 0 14 SE2s3 (v) f

Find Solution Set of x2 -9=0

2 3 4 015 2 3 4 015
¥ A= |15 5| ,B= |[2 3 6 A= |15 5| ,B= |23 6| J
49 3 1 4 -2 49 14 -2
find A-B Zip n
: . -5 -2]]-2 1 ” . :
Find the Matrix Product. [1 _3}[0 _3] -éf:"’ AL € uLE vil)
Find Transpose of : B = l-'_i ':J _".{r}# s i)

Define Diagonal Matrix and give example.
Define Angle.

Define Hemisphere,

Define Radius.

Write down the angles marked with letters.

(2x+3y+2)2 -éd' & 24 u( U i)

e s S P i

_ép"'.u;g)’KxZ-9=0(v)

e s 2y S S G
S e sy

ey $/d i

Ef § AL i

_E'{r)h’oz Ju{;lx'aﬁ/;lfé&tb] (iv)

Define Altitude of a Triangle. LS s £ ekt vy
a=3,b=4,c=? nn'c sl ynlislsn Lu’!a,b.ézf;(ﬁ"é.blﬂ?f&,ﬂ!;fﬁ' (vi)
Find the Third Side of Right Angle Triangle with legs'a'and'b' and Hypotenuse 'c'
a=3,b=4,c=27?
n 2EF8 0 S & LA o U S 5 £ D8R VST i
Find the Hypotenuse of a Right Isosceles Triangle whose legs are 8 cm.
“E S (1,0) 5 L& Uk o

Describe the location of the given point (1,0)on the number plane.

-zf_:(}"‘.iﬂliuy;:L(Z,l),(—4,3)£t‘§£ &3 (ix) ,

Find the Distance between the given pairs of points (2,1),(-4,3)

/; P.T.O.
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